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& Multiplying Polyn
omi
| g Polynomials by Monomials

* To multiply a polynomial b i
y @ monomial. g :
ggglp/ck, even #s awe V.

Example 1 Multiply:  x(x + 4)

: ~

Solution 1 | XX + 4) = x(x) + x(9) Solution2 x + 4

= + dx X Multiply each term by x.
2+ 4x

Multiply.

1. 3(x - 2) 2. =2(x + 3) clc — 4) 4. a(3 - 2a)

S. =263 - 4b) 6. —3c(dc + 1) 7. 5y(y + 6) 8. —z(4 — 52)

Example 2 Multiply: -2x(322 — 2x + 1) :

Solution 1 Multiply each term of the polynomial 3> — 2¢ + 1 by the monomial —2x.

e ;
—203 — 2x + 1) = =2x(3:3) — 2x(-2x) — 2x(1)

= —60 + 4¥ -
Solution 2 xl =2y
i -W
-6 + 4 - «x
Multiply. i
9. 3x(x* — x — 2) 10. —2x(x? - 4x + ) 1. 42 - 3x = 7)
12. 5202 + x - 3) 13. 622 — x — 12) 14. 4302 - 3x — 6)
15. 3a> —4a - 6 16. 4a®> — 5a — 7 17. 52 —x =3 18.2A1k3—3k—5
: -4
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Example 3  Multiply:  4x>y(5x> — 3xy + 2y%)

. 2 3
Solution Multiply each term of the polynomial by 4x°y.
e~

4xy(5x3) + 4y(=3x) + 42y

2 - 3y + 2P =
Az o 206y — 128 + 8¢

::wssiw - Sxy — 2 20. n202 - 4xy — 5%)
: 2. TA63 ~ 121y + %)

31,-2;)(43-—3xy+y2)






